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9) Let f(x) = x(x - 2)2 and let yg =2. f(1) =1 and f(3) = 3. Since f is continuous on [1, 3] and since yg = 2 is between f(1)
and f(3), by the Intermediate Value Theorem, there exists a c in the interval (1, 3) with the property that f(c) = 2. Such a

8)

¢ is a solution to the equation X(x - 2)2 = 2.
10)a=4,b=9
1) k=2
12) 0 m, 0 m/sec
13) a(10) =18 m/sec?, a(4)=-18 m/sec2
14) $4.00
15) -4t cos3(mt - 17) sin(rtt - 17)
16) 5(2t + 4)3(10t + 4)
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18) y=2x-3
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20) y=-40x - 8
21) (x + 1O)X[In(x +10) +
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22) 5x

23) 22.5m/s
24) 0.67 m/s

25) % Ib/in.2 per sec
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